Practice Set Paper - 6

MATHEMATICS

Time: 90 minutes

Instructions:

S

10.

11.

Maximum marks: 200

Attempt all 30 questions. Write answers separately on the answer sheet provided at the exam centre.
Part 'A' contains 20 questions and each question carries 'Five marks'.

Part 'B' contains 10 questions and each question carries 'Ten marks'.

Use of calculator is prohibited. Marks will be awarded for each step.

Take the value of w as 22/7.

The questions paper can be retained by the candidates post examination.

If 4 of an estate is worth Rs. 42,000/-, find the
worth of whole estate. Also, find the value of
3/7 of it.

Arrange the following fractions in ascending
order% 1/9, 5/12,6/15,4/3,11/9

What is the smallest number divisible by 16, 12
and 9 but greater than 18,0007

Simplify% 174+ [11 —{8 +3-90f 6 + 7 —

13 x 4)}]
Ifa+b+c=11;a2+b?+c?=81 then find ab + bc +
ca.

Difference between the squares of two
consecutive numbers is 31. Find the numbers
Oranges are bought at the rate of 10 for Rs
25/- and sold at the rate of 9 for Rs 25/-. Find
the profit %?

The area of a rectangle is given by A =
6x2y+4y?x and the width of the rectangle is w =
2xy. What is the perimeter of the rectangle?

A spherical ball of lead has been melted and
made into identical smaller balls with radius
equal to half the radius of the original one. How
many such balls can be made?

Find the principal which will amount to 4,000
in 4 years at 6.25% per annum.

A park is 10 m long and 8 m wide. Find the
length of the longest pole that can be placed
inside the park.

PART A

12.

13.

14.
15.

16.

17.

18.

19.

20.

2025 plants need to be planted in a garden in
such a way that each row contains as many
plants as the number of rows. Find the number
of rows and the number of plants in each row.
Calculate the number of sides of a regular
polygon if the ratio between its exterior angle
and interior angleis 2 : 7

Simplify% 2a-3b-[4a-3b-{a-2c(a-2b-c)}]
The population of a town in the year 2021 was
50,000. If the population is reducing by 20
percent per year, what would be the population
the town in the year 2023?

Divide%

4a2 + 12ab + 9b? - 25¢2 by 2a + 3b +5¢

Each side of a rectangle is doubled. Find the
ratio between areas of the original rectangle
and the resulting rectangle.

At what rate per cent of simple interest will the
interest on 3,750 be one-fifth of itself in 4
years? To what will it amount in 15 years?

A cricketer has a mean score of 58 runs in nine
innings. Find out how many runs are to be
scored by him in the tenth innings to raise the
mean score to 61.

The area of a triangle is 150 cm?. If the altitude
is 8 cm, what is its base?

www.wedabooks.com



A readymade garments shop in Delhi allows
20% discount on its garments and still makes a
profit of 20%. Find the marked price of a dress
which is bought by the shopkeeper for Rs 400.
Three prizes are to be disturbed in a quiz
contest. The value of the second prize is five-
sixths the value of the first prize and the value
of third prize is four-fifths that of the second
prize. If the total value of the three prizes is Rs
450, find the value of each prize.

A sum of money is lent at simple interest which
amounts to Rs 3192/- in 3 yr and to Rs 3720/-
in 5 yr. Find the sum of money and the rate of
interest.

P and Q started simultaneously from the same
point and traveled in opposite directions at
speeds of 60 kmph and 90 kmph respectively.
What will be the distance between P and Q
after 25 minutes?

Factorize

a) x2+2x-15

b) X6 -2x3y3 + yb- x3-y3

A right circular cylinder having diameter 12 cm
and height 15 cm is full of ice-cream. The ice
cream is to be filled in identical cones of height

PART B

10.

12 cm and diameter 6 cm having a hemi —
spherical shape on the top. Find the number of
cones required.

Two pipes P and Q would fill an empty cistern
in 24 minutes and 32 minutes respectively.
Both the pipes being opened together, find
when the first pipe must be turned off so that
the empty cistern may be just filled in 16
minutes.

Construct a rectangle ABCD, if each diagonal is
5.5 cm angle between them is 609

Evalute (x?2 + 10x + 21) + (x + 7).

In the adjoining figure ifx :y:z=2:3:4, then
find the value of z.

A
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ENGLISH

Time: 120 minutes

Instructions:

1.

Read all the questions thoroughly before answering.

2. The question paper comprises of three sections.

a) Reading Section -
b) Writing Section -
c¢) Grammar -

20 Marks
30 Marks
75 Marks

Maximum marks: 125

3. The question paper can be retained by the candidate post exam.

SECTION 'A' READING

Read the passage given below and answer the
questions that follow: (15 Marks)
Once a famous tennis player was scheduled to
play a prestigious championship match
against her most formidable rival. At the last
minute, she gave the excuse of not feeling well
and refused to play. Her reputation was
ruined. Until the day of her death, she was
regarded as a 'poor sport' afraid of defeat. Why
is such a high value put on good
sportsmanship in the field of sports? The
games themselves are not so important. No,
but the traits a person shows in playing a
game, reveals a person's character and
breeding. The qualities needed in games are
the same needed for decent living, fairness,
honor, self control, willingness to abide by the
rules, just tempered by restraint and ability to
win or lose with good spirit.
If you cannot muster up any interest in a
game, you had better stay out of it. A half-
hearted player who does not keep his mind on
the game, is for ever asking, "Oh, is it my
turn?" and plainly does not care how things
turn out and is an annoyance. The ideal player
plays for the fun of playing. He tries to win; yet
he is not so eager that he jumps in ahead of
his turn or claims victory before the game is
over.
a) On the basis of your reading of the passage,
answer the questions briefly.
i. How was the reputation of the famous
tennis player ruined?
ii. How do games reveal a person's
character?
iii. What is on the mind of the ideal player?
iv. Why should a disinterested player stay
out of the game?
v. Which qualities of decent leaving are
also needed in games?

b) Give the meanings of the words below. One
word answer or short phrases will be
accepted.

i. Formidable
ii. Traits
iii. Restraint
iv. Interest

v. eager

2. Read the given poem and answer the questions

that follow:

O say what is that thing call'd light
Which I must ne'er enjoy;

What are the blessings of the sight,
O tell your poor blind boy!

You talk of wondrous things to see,
You say the sun shines bright;

I feel him warm but how can he

Or make it day or night?

My day or night myself I make
When're I sleep or play;

And could I ever keep awake

With me were always day,

With heavy sighs I often hear

You mourn my hapless woe,

Be sure with patience I can bear

A loss I ne'er can know.

Then let not what I cannot have
My cheer of mind destroy;

Whilst thus I sing, I am a king;
Although a poor blind boy.

(5 Marks)

a) What are the things the blind boy says he
will never enjoy?

b) What does he say about the sunshine he
has never seen?

c) Express the following lines in your own
words:
"Then let not what I cannot have
My cheer of mind destroy."

d) How does the blind boy bear his loss?
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1.

e) How do blind people lead active and

productive lives today?

SECTION 'B' WRITING

Write an essay on any of the following:
(10 Marks)
a) Good fences make good neighbors
b) In the era of globalization and social media
physical borders should be done away with
between the countries
c) Importance of sports in school life.
Shubham Badoni is an active member of the
Youth Wing of the Society for the Prevention of
Cruelty to Animals (SPCA). While returning
from school he saw the scene in the picture.
He decided to write a letter to the editor of a
newspaper protesting against cruelty to
animals. Using the picture, together with your
own words, write the letter in not more than
150 words. (10 Marks)

IR
Write a notice in about 50 words informing the
students of your school that a speech
competition on the topic “If I was ever to
become the president” is going to be held on
15 December at 11:00 a.m. in the Assembly
hall. (10 Marks)

SECTION 'C' GRAMMAR

Rewrite the sentences as directed in brackets,
without changing the meaning of the

S

entences. (10 Marks)
a. Does your mother have a map of the town?

(Change the do have form to have got)

b) A bee stung me on the arm. (Start the

C

sentence with'_1I ...)
) Nobody knows who invented the
wheel.(Change the active sentence into a

passive one, using 'It' as the subject)

d) They are threatening to close down next

year. (Write the complete sentence, putting
in the object The school)

) Here are some dry clothes. You can change
into them. (Join the two sentences using

that))

f) I am giving you an application form. You

g

should fill it in. (Join the two sentences
using a to- infinitive)

) People don't tell you the complete truth,
(rewrite using an adverb in the correct
position)

h) It's less sunny today than it was yesterday.

j)

(Rewrite using 'as...... as"

Ajay is listening to a concert. (Change into
an interrogative sentence).

If you don't act now you'll miss your
chance. (Change If sentence into 'or'
sentence)

2. Join the pair of sentences with appropriate

conjunctions: (5 Marks)

a) Ananya is so punctual. She cannot be late.

b) Sheetal is intelligent. Her sister is not so
intelligent.

c) Itis a beautiful ring. It was given to me by
my husband.

d) Nupur looks after the children. She must be
honest and sincere.

e) Aman tried hard to pass the test. He failed.

3. In each of the following sentences a word in
bold is written in a context. From the options
given, write an antonym of the bold word:

(5 Marks)

a) Grief can change a person for better or for

worse.
i. Happiness
ii. Sadness
iii. Anguish
iv. Pain

b) Illicit drugs are the biggest International

security challenge in today's world.
i. Illegal

ii. Legal

iii. Unlawful

iv. Illegitimate

c) The inscrutable hero was an inspiration to

an entire generation.
i. Enigmatic
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ii. Clear
iii. Deep
iv. Mysterious
d) The Indian Army is an infallible national
institution.
i. Unfailing
ii. Fallible
iii. Unbeatable
iv. Foolproof
e) After she was insulted publicly she became
an implacable enemy of the administration.
i. Unpacifible
ii. Yielding
iii. Relentless
iv. Ruthless
In each of the following sentences a word in
bold is written in a context. From the options,
write a synonym of the bold word: (5 Marks)
a) It is imperative to work hard during the
student years of life.
i. Cool
ii. Fashionable
iii. Important
iv. Possible
b) The family was jubilant at her success in
international sports.
i. Aghast
ii. Tearful
iii. Overjoyed
iv. Unimpressed
c) The hosts at the wedding were hospitable
and kind.
i. Welcoming

ii. Fit
iii. Medicos
iv. Rude

d) Russia was antagonistic to NATO from the
very time of its formation.

i. Neutral
ii. Friendly
iii. Rude

iv. Hostile
e) The military laid an ambush waiting for the

enemy to emerge.

i. Snare

ii. Protection

iii. Welfare

iv. Advance
Complete the given sentences with the correct
form of verb: (5 Marks)
Breathing is good, on this we (a) (can)
agree.That is why sleep apnoea, a condition
breathing and in which sufferers repeatedly

(b) (stop) breathing and (c)
(awake) during the night, (d) (be)so
distressing and dangerous. Doctors (e)

(have) long known that the majority of people
with sleep apnoea also () (have) gas and
reflux, so they often (g) (treat) the reflux
with heartburn medication. To prove the
connection between reflux and sleep apnoea,
the scientists at an army hospital (h)
(observe) apnoea patients as they (i)
(sleep). They (§) (find) that reflux could,
in fact, be the cause of many night-time
awakenings.
Fill in the blank with appropriate prepositions:
(10 Marks)

a) This is all means the better book.
b) The robbers broke

the middle of the night.

the house in

¢) The kitchen was infested rats.

d) During the vacations the students will be
busy preparing the examination.

e) The workers toiled Dawn to Dusk

f) Itake. all thatI said about him as I
realize [ had been wrong.

g) He returned to his country 10 long
years

h) Ravi distributed the chocolates his
cousin.

i) The workers said they would call
the strike if their demands were met.
j)  The old man passed in his sleep.

Change the following sentences into passive

form or vice versa (5 Marks)
a) We cooked the food and sent it to the
orphanage.

b) People felt that the police were corrupt.

c) Pratik gave me a pen.

d) Miss Sahani teaches us English

e) Should you have interrupted me while I was

speaking?
Choose the correct option for the following
idioms: (5 Marks)

a) On the Wane
i. On the heights
ii. Stand still
iii. Verge of eruption
iv. Gradually declining
b) drop a bombshell
i. Create a big problem
ii. Have some big bad news
iii. Make a serious mistake
iv. Attack the enemy
c) all our might and main
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i. Complete trust
ii. Full unity
iii. Exceptional skills
iv. Full force
d) took to her heels
i. Runoff
ii. Rubbed her heels
iii. Kicked off her shoes
iv. Bent down
e) a bolt from the blue
i. Struck by Thunder
ii. A piece of bad luck
iii. The complete surprise
iv. A flash of lighting
9. Name the following :
a) A group of Islands,
b) A group of artists,
c) The science of flight,
d) The study of insects,
e) The science of arranging time in periods in

(5 Marks)

historical order,
10. Change the following sentences into indirect
speech (10 Marks)
a) Teacher said to students,"” Why are you
making a noise in the class?"
b) Shanti said, “Sita has a fine picture."

11.

12.

c) He said to his friend, “please lend me your

book”

d) Ruby said, "How fast the baby runs!"

e) He said to me, "Let us stop talking to her

because she is a miser."

f) The clerk said to the visitor, "Shall I ask

these people to wait for you?"

g) He said to me, “ Let us have some tea.”

h) “ Go out of the classroom.” the teacher

said to the three boys.

i) He said, “Today is a fine day.”

j) Amit said to his friend, “ Sit besides me.”
Complete the analogy (3 Marks)
a) Meat is to the butcher as fish is to .
b) Furniture is to carpenters as books are to

c) Leather is to cobbler as clay is to

Rearrange the words given below to make

meaningful sentences. (7 Marks)

a) Like I liars do not.

b) Was by she taught Mrs. Sharma music.

c) Have the bought you apples.

d) Appeared be to She confident very.

e) Sincere we be should our in work.

f) To me everyday Pranjali a whole week for
spoke

g) Did thanked me she I what for.
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GENERAL KNOWLEDGE

Time: 60 minutes

Maximum marks: 75

{TICK ( v ) THE CORRECT ANSWER}

10.

11.

12.

13.

The smallest unit capable of carrying out life
functions is known as

a) Blood

b) DNA

c) Tissue

d) Cell

The largest gland of human body is
a) Liver

b) Thyroid

c) Pituitary

d) Intestine

The role of white blood cell in the human body
is

a) Defence against infection

b) Source of energy

c) Clotting of blood

d) Medium for oxygen transport

Which among the following is responsible for
transporting, modifying and packaging proteins
for use

a) Ribosomes

b) Mitochondria

c) Chloroplast

d) Golgi apparatus

Potato is a &

a) Stem

b) Root

c) Bud

d) Fruit

Insulin is secreted from which gland of human
body

a) Liver

b) Kidney

c¢) Pancreas

Instructions:
1. There are a total of 75 questions and each question carries one mark.
2. There is no negative marking for a wrong answer.
3. Do not over write, dual answers shall not fetch any marks.
4. All questions to be answered on the question paper only.
1. Which is India's largest city by population?
a) Mumbai
b) Chennai
c) Delhi
d) Pune
2. Who is the first Indian Prime Minister to
address the British Parliament?
a) Jawaharlal Nehru
b) Lal Bahadur Shastri
¢) Indira Gandhi
d) Narendra Modi
3. The first Biosphere Reserve of India is
a) Kanha National Park
b) Nanda Devi
c) Nilgiri
d) Hazaribagh
4. Which of the following is the harvest festival
celebrated by people of Kerala
a) Onam
b) Pongal
c) Lohari
d) Magh Bihu
S. Who was the first woman governor of Uttar
Pradesh
a) Anandi Ben
b) Sucheta Kriplani
c) Sarojini Naidu
d) Lakhmir Singh
6. What is the rank of India in Human
Development Index 20237
a) 130
b) 132
c) 138
d 125
7. Which one component is important in

photosynthesis which allows the plants to
absorb energy from light?

a) Carotene

b) Xanthophyll

c) Chlorophyll

d) Phaeophytin

14.

d) small intestine

Which one of the following is the highest layer
of atmosphere

a) Exosphere

b) Troposphere

c) Thermosphere
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

d) Mesosphere
Mariana is a type of

a) Desert
b) Mountain
c) Soil

d) Oceanic Trench
Where are the headquarters of ISRO situated
a) Delhi

b) Mumbai
c) Bangalore
d) Gujarat

Who among the following started the Home
Rule movement

a) Sarojini Naidu

b) Annie Besant

c¢) Sucheta Kriplani

d) Savitribai Phule

Thomas Cup is related to which sports
a) Cricket

b) Tennis

c) Badminton

d) Football

What is the capital of Syria

a) Tel Aviv

b) Addis ababa

c) Damascus

d) Jerusalem

Abhinav Bindra is associated with which sports
a) Chess

b) Badminton

c) Cricket

d) Shooting

Sundar Pichai is the CEO of

a) Microsoft

b) Apple

c) IBM

d) Google

Who among the following led the Bardoli
Satyagraha

a) Mahatma Gandhi

b) Subhash Chandra Bose

c) Bal Gangadhar Tilak

d) Sardar Vallabhbhai Patel
Emergency can be imposed by

a) Prime Minister

b) Cabinet Secretary

c) Home Minister

d) President

Cristiano Ronaldo belongs to which country
a) Spain

b) France

c) Argentina

d) Portugal

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

Which of the following state has the largest as
per area forest cover in India

a) Gujarat

b) Arunachal Pradesh

c) Mizoram

d) Madhya Pradesh

Who is the supreme commander of Indian
Armed Forces

a) Prime Minister

b) Chief of the Army

c) President

d) Home Minister

The instrument used to detect the presence of
electric charge on a body pressure is

a) Sphygmomanometer

b) Barometer

c) Anemometer

d) Electroscope

Who was the viceroy when India got
independence

a) Lord Canning

b) Lord Mountbatten

¢) Lord Curzon

d) Warren Hastings

Where are the Bhimbetka caves found
a) Gujarat

b) Karnataka

c¢) Maharashtra

d) Madhya Pradesh

Who is known as the Iron Man of India
a) Mahatma Gandhi

b) Muhammad Ali Jinnah

c) Sardar Vallabhbhai Patel

d) Subhash Chandra Bose

When was the Battle of Plassey fought
a) 1760

b) 1764
c) 1780
d) 1957

When was Indian National Congress formed
a) 1880

b) 1885
c) 1890
d) 1895

Dandi March by Mahatma Gandhi was part of
a) Non cooperation movement
b) Civil disobedience movement
c) Home Rule movement
d) Quit India Movement
Who is known as the father of Indian Science S
a) CV Rama
b) J.C. Bose
¢) Swami Dayanand Saraswati
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35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

d) Raja Ram Mohan Roy
Sanchi Stupa is related to which religion
a) Hinduism

b) Buddhism
c) Jainism
d) Islam

What is the capital of South Korea

a) Canberra

b) Wellington

c) Seoul

d) Oslo

Korba thermal power plant is located inS
a) Madhya Pradesh

b) Tamil Nadu

c¢) Chhattisgarh

d) Assam

The United Nations Organization came into
existence on

a) October 24 1944

b) October 24 1945

c) October 26 1946

d) October 24 1947

Which is the largest rice producing state in
India

a) Uttar Pradesh

b) Kerala

c¢) Andhra Pradesh

d) West bengal

Which of the following temple was destroyed by
Mahmud Ghazni several times

a) Golden Temple

b) Ayodhya temple

c) Somnath Temple

d) None of the above

Rickets is caused by the deficiency of

a) Vitamin C

b) Vitamin D

c) Vitamin A

d) Vitamin B

Who was the political Guru of Mahatma
Gandhi?

a) MG Ranade

b) Gopal Krishna Gokhale

c) Lala Lajpat Rai

d) Dadabhai naoroji

Where are the headquarters of Asian
Development Bank

a) Washington

b) Canberra

c) Paris

d) Manila

Permanent Settlement was a feature of
a) Zamindari System

45.

46.

47.

48.

49

50.

51

52.

53.

b) Ryotwari System

c) Mahalwari System

d) None of the above

Who were the main saints of the Bhakti
movement in 14th century?

a) Kabir and Ravidas

b) Nanak and Ram das

c) Meera and lala dev

d) None of the above

Who composed “Sare Jahan Se Achcha
a) Bankim Chandra Chatterjee

b) Mohammed Igbal

c) Rabindranath Tagore

d) None of the above

Who is known as the father of Green revolution
in India

a) Norman Borlaug

b) TS venkataraman

c¢) MS Swaminathan

d) Verghese kurien

Who is known as the father of genetics
a) Muller

b) Darwin

c) Morgan

d) Mendel

. Rearing of silkworm for the production of silk is

called

a) Apiculture
b) Pisciculture
c) Sericulture
d) Silviculture
Which of the following vitamin is obtained from
sunlight

a) Vitamin A
b) Vitamin B
c) Vitamin C
d) Vitamin D

. Which is the book written by the Sardar Patel?

a) The Discovery of India

b) Bharat vibajan

c¢) Hind swaraj

d) None of the above

Which of the following is a chemical change
a) Rusting of iron

b) Heating of iron

c) Melting of iron

d) None of the above

Pure water can be obtained from seawater by
the process of

a) Desalination

b) Evaporation

c) Filtration

d) Condensation
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54.

55.

56.

57.

58.

59.

60.

ol.

62.

The Assam Rifles force has constructed a war
memorial for personnel killed during
insurgency, in which state

a) Assam

b) Nagaland

c) Mizoram

d) Arunachal Pradesh
The Kaziranga wildlife sanctuary in Assam is
famous for

a) Lions
b) Tiger
c) Deer

d) One horned rhinoceros

What is the name of the submersible which is
reported missing and was actively in service for
taking the tourists to Titanic wreck?

a) Queen Mary

b) Titan

c) Bismarck

d) Iowa

Which is the biggest freshwater lake in the
world

a) Caspian Sea

b) Chilika Lake

c) Loktak Lake

d) Lake Superior

The rate of evaporation depends on

a) Temperature of air and of the liquid

b) The nature of the liquid

c) Area of exposed surface of the liquid

d) All of the above

In Amoeba the food is digested in the

a) Mitochondria

b) Pseudopodia

c) Chloroplast

d) Food vacuole

Among the following which is the strongest acid
a) Hpydrochloric acid

b) Acetic acid

c) Nitric acid

d) Sulfuric acid

Which among the following is a physical
change

a) Burning of food

b) Cutting of wood

¢) Ripening of fruit

d) Cooking of food

Galvanization is a process used to prevent the

rusting of

a) Zinc

b) Aluminium
c) Iron

d) Copper

63.

64.

65.

66.

07.

68.

69.

70.

71.

Which organisation successfully demonstrated
the Solid Fuel Ducted Ramjet (SFDR)

technology?
a) HAL

b) DRDO
c) BHEL

d) OFB

The heat from the sun reach to earth by
a) Convection

b) Conduction

c) Radiation

d) None of the above

India’s Mars Orbiter Mission (MOM) was
launched in which year?

a) 2013
b) 2014
c) 2016
d) 2018

Time period of a simple pendulum depends
upon
a) Length
b) Weight
c) bothaandb
d) none of the above
What is the full form of CFL
a) Complete fluorescent lamp
b) Compact fluorescent lamp
c) Compressed fluorescent lamp
d) Compact fluorine lamp
Aquatic animals excrete their waste in the form
of
a) Uric acid
b) Ammonia
c) Urea
d) Nitrogen
The joint session of parliament is presided by
a) Vice president
b) Speaker of the Lok Sabha
c) President
d) Deputy speaker
Which among the following freedoms
guaranteed by Constitution of India includes
the right to know and the right to be informed
as implied rights
a) Freedom of speech and expression
b) Freedom to practise any profession
c) Freedom of assembly
d) Freedom to move freely throughout the
territory of India
The idea of fundamental rights has been taken
from
a) Canada
b) Germany
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72.

73.

c) Australia

d) America

Who was the prime minister of India during the
Indo Pak war of 1965

a) Indira Gandhi

b) Jawaharlal Nehru

c¢) Lal Bahadur Shastri

d) Rajiv Gandhi

Which among the following is the oldest High
Court of India

a) Calcutta High Court

b) Madras High Court

c) Bombay High Court

74.

75.

d) Allahabad High Court

Who is known as the father of Dravidian
movement

a) B.R Ambedkar

b) C Mudaliar

c) E.V Ramaswamy

d) none of the above

Who was also called as Indian Machiavelli’.
a) Kautilya

b) Vishakha Dutta

c) Megasthenes

d) Chandragupta Maurya
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